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new a9 said this xXh»72 teaches us that a contradiction is the
beginning of a repudiation

OVERVIEW

Our X012 stated that if two 2°7v claim that the q0W: 7Y on a 2>pPn VW are Y7109
m7y, they are not believed and we can (seemingly) collect with this 2vw. The
X3 asked how can we validate such a 7vw; there is contradictory testimony
from two groups of 2>7¥ (the ww: 7 and the o017 2>7v)?! NWWw 27 sought to
resolve this difficulty by stating that X°77 7217 n2°nn Awnon; and just as by a7
the 07V must be present to be repudiated, so too by nwndn the 2°7Y must be
present to be contradicted. Since the WWH 7Y are not present; their testimony
cannot be contradicted. Therefore it is a valid 2vw. Our Moo will show that
even by a 2™pn W, the Mwwn *7¥ can be contradicted (and even refuted).

nooIn asks:
= NI AINN Y0V 9N ON NPT Cow nt oy HNY 20T NN NYY 29D YYPN 99NN ON)

And if you will say; the Xn>92 in nnw >» P75 contradicts @''9 for the Xn»12

teaches,3 ‘if the seller claimed, ‘it is a trust document; the seller claims he never
sold this field. He gave the purported buyer the 77°21 W because he trusted him. The Xn»"2

continues —
= ©%1Y NN 79N NI NINN VYT ‘v 01y ¥ ON

If there are 2°7y; meaning, there are 27y who will testify that it is a 718 VW,

then go according to these 257¥ and believe the seller that it is a 71X 0w —
- HOYN NN 790 INY ON)

However, if there are no 2°7¥ to substantiate the seller’s claim go according to
the avw’, which states that the seller sold the field to the buyer. This concludes the Xn>>2.

Mmoo continues with his question:
= DPP P98 YOVYN PPNT 2) UY GN NNIN

' See previous ox1 1"7 Moo footnote # 5 (&6) concerning AT WA,

2370 2"

? The xn™12 is discussing a case where a person (buyer) was occupying a field and another (seller) challenged
him that it belongs to him (seller). The buyer then produced a 77°>n 7w that this seller sold this field to this
buyer. The Xn*"2 continues with the following text.

* The term "w°0' in Moo (generally) indicates that he is rejecting another (simpler) explanation. It is not clear
which interpretation mooin is rejecting. Perhaps '0°7v w° oX' can mean that there are 0°7v who can testify details
of the sale, etc., but not that it is a 773K W (in which case there would be no contradiction).
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It is evident from this Xn»72, that even though we are discussing a case where
there is no requirement to be 2%p» the Ww; the “ww is considered o™1pn.

mdoIn will now prove how we know that the 70w requires no ovp:
- NN RIPRTI 1INV *19N NNNY TOWH NN 190 NN 9INT

As the Xn»72 states there that if there are no 0°7¥, then go according to what is
written in the 9ww; the 7vw to which the 77 admits to writing, (and therefore

does not require 01°p) as it is mentioned there in the name of 13m» >21. If it would not
be considered a o> p»n W, then the 721 should be believed that it is a 7anX "W with a 2 of
oA, The fact that he is not believed indicates that this qww is considered a 2°pn VW
through the admission of the 72 that he wrote it. m501n has proven so far that the Q0w there
is considered a D>™pn “ow.b

mMooIn continues with his question:.
- "Antn nYnn nwnan 19998 N2Y D1Y 9NN 191 D1y W ON [997 1929N)]

[And nevertheless] even though it is considered a o>pn 70w, if there are 237y

who testify that it is a 71X 0w, we follow the 2%7T¥ and the 7707 is nullified,
even though these 0°7¥ who claim 711X, contradict the 20w *7¥ who claim that it

is a valid 77on and we do not say that ‘mwnam is 7217 nPrn’; that we cannot
believe the 71X 7Y since they are being w°ron the 0Wn °7v not 07192, Rather we believe
them even though it is a wnon. How can nww 11 maintain that we cannot have a R>w nwnan
on1927?!

N1B0IN answers:
$P99 NN DAN 9IND HININ HONTT 9999 UM

And one can say; that nww 17 merely stated that this X172 maintains that
mnta nonn awnon and therefore you cannot be 0777192 X9w wonon; however that
XN°72 in DAY 1 argues on our Xn*>12 here in M2 N2,

SUMMARY
It is only our &n>12 that maintains 217 n?nn Awna, according to nww 27. The

> The actual case in the Xn™12 is with a 77°2n qvw; however the logic is the same by a X271 qow as well. The
reason why the Xn»12 maintains 0w R 777 is because of the ruling that 1P ¥"X 1200w wwa 370, It is
considered o> pn. Therefore the 721 is not believed to claim 5117 112 7IAK.
® It was necessary for m»oIn to prove that the v there is (considered) a 2 pn Tvw. Otherwise there would be no
contradiction to NWw 11. w"1 maintains that 077192 KPR D797 DX 1w PR, only when there is a valid M7y n7an
either orally or through a o1p» 7vw. However when 279 are contesting a 011 1R 0w, it is obvious that they
are believed, even though they are w°nan the 0192 K7W 0w *7v.
7 See ‘Thinking it over’.
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XN*92 in 2"2 maintains that 7Y can be 077°192 ROW WWH 7Y W NN even though
the 0V is considered a»™pn.

THINKING IT OVER

mooin asks, that (in 2"2) since the MWW is considered 0°pn by the (151) M7, how
can the o7y contradict the =wwn *7, according to nww 21.° Perhaps @'
maintains his rule only when there can actually be a 717 as in our &n>12. In the
Xn»92 of 2"2 however, there can never be a n1; for the MWW >V can claim we
never signed it. Perhaps in such a case w"" agrees that you can be w°ron the 27y
orana Row?!

8 See footnote # 7.
o See l‘]"’W a"nn ,('[ﬁNT() R"wAnn.
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